1. 5%

BRI (SEN) = [

2015-20165F=

1

F RIS
"SR IRERT (SENEREHIF

L
S
FIE! i AR | (I s GTUES R Ry e N Fifh
PV [=ED
] NV R - | 9n5-8/16 23,625x12x1.05= = % EIE T S ,
= 4 ﬁﬁ L v;j{?gmﬁéﬁ ,Jf* b 25 % éﬁﬁ; ° ?f& E ng FIFJ 297 67)5( § E”Jg(/,’f&&%_[%l ¢ EEFJL:E;# [%Wﬁ r[?s[rlfﬁ—
:F] E[ (SEN) nal[#]:‘ ]LE E'jj/ I i élﬁ g" 71“‘\3 ’ £ 1’-[?: 5U] 1% %EF]JEEJEJj JEZ ’
EE [ ]‘%E"}Jfﬂﬁ;ﬁgdf FIU: [EEl — # Fi ’F:ﬂf [”E F IHE‘?"EELIF;;“ I,E Hﬂ
LSS el I sHEE: 2976757 iz [ T
B T DT fio S e | @ TE BRI
o uoilpma T = =8 qRET
=1y ]*my;&m & TEIel i
J Sl ° % 2h R H
SENZ: %
2. JF2{ SEN T (=
T
! s Fik A [ (RO = e v [ el Eeal el RS FIf”
_ YV (=R _ _ _
7][ ’L“SENEF] o) o Hﬂ o [ ) ﬁ:,jjf%f [,[Eflgi ° F[J 12 S Y 9/15-8/16 =% 500,0007 FLJ: ?Wg’?iEP'J ° %\Eiqjl E,UF[U E;r’f’;"_
A WP - Stk i g5 | T
B SENZP 2 4& 5 £, SEN 8 % $6L HJ =4 SEN 5 AR AT i AR HH
= s Spme by e ik
o A T, £ 50 Yok
senvgc e | 0 PR gﬂf'ffi (=&




3. #]ﬁ'-gll 1 &

I
! i B ApE e | R A R i fif
YT =R _
FRRE | e | e e | e | YO 10,0002 0= i N OO RN P
FHIE D i 3 S g | DL
° 145 2L 5 Elgj - i ’FI?HEJFIJ I%giﬁgj I%} FE ~
[ (EEAg £ : f:]?%f:sz wens ppo | FIEE
B | e A [Atiiid e L |
o g Y ﬁ;L P I %Z e
RN 5 i 24 il
JE‘I I"E =3 f' FH:I
e
4. WEAESLE 1 4
A
B! B MRS TR | (B i | R AT w5 R fif -
YV (=R
gw e | e | g veg e o w0 Sl I vt Y B S
Ef 2! S R F R EEE P m Y Wi =
o mrmmi B e HRRRE e | PR
B e e 4 AAE: 19156205 iu%z f s o | N
W = | o R 1T ke |
o Il : /I RS

R

1534




I (ERES =R
Rl ; fi o

R : HE 980,000 7
A Y L,190,795

B -30/6 - RAAZYEREL  342,099.14




